BIFEA—42)—957 - ALoF—

4R
HEZER
H H U K PN T T
&1 =I%E RC =R RC =IF RC HiIFl RC | BlFFR RC | EIEHAE RC
= FIFERIEKTL | DIVVT(BIEE | BIEERERTIL | RFTAIYYIR F3yhif—N HIGERSRTI
1 2 3 4
(Ao DH) (Lo DH)
1285~ 1285304 1285~ 128$30%
5 6 7 8 9 10 11
*h £ (Ao DH) (Lo DH)
= 1285 ~128530% 128~ 1285304
12 13 14 15 16 17 18
(Ao DH)
Bl = 12H#~1/23#30§:‘
19 20 21 22 23 24 25
Bl =
26 27 28 29 30 1 2
(A2 DH)
B 2 (A2 DH) | 12B~12F30% (HA2 D7)
= 128~ 1205305 (BE7HTI— 1285~ 1283045
BBKRE)

CE) A=V T VT DAL FIERT14ABURELGO>TEYET,

BISBIZHENHELZNA RERENFESNIREDAF, A—07vTDITERE
FAHLLBREVLLBLLEIFEY,



